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General Instructions :

(i)

The question paper comprises two sections, A and B. You are to

attempt both the sections.

(ii) All questions are compulsory.

(iii)

There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to

v)

(Vi)

(vii)

(viii)

(ix)

31/1/3

be attempted separately.

Question numbers 1 to 3 in Section A are one-mark questions.

These are to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions.

These are to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks
questions. These are to be answered in about 50 words

each.

Question numbers 19 to 24 in Section A are five-marks

questions. These are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks

questions based on practical skills. These are to be answered in

brief.
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HAT-A
SECTION-A

1. 39 g9 Hoft < gecl & Gel o 1§ faRau e st
e —OH ® |

Write the molecular formula of first two members of homologous

series having functional group —OH.

2.  wicHlfegH forE YRR ST hEdl © ¢ Ig fafer wifirer @ steen s1afien ?

How does Plasmodium reproduce. Is this method sexual or

asexual ?

3. it sl UThfaeh UTias SR | ST @ ¢

Why is a lake considered to be a natural ecosystem ?

4. I3 o7 30 cm ThaT BISAT o T g9V ok A 12 cm W &@
3 | U gRT o fferet 3 =9R SAfiereron it g T |

An object 1s placed at a distance of 12 cm in front of a concave
mirror of radius of curvature 30 cm. List four characteristics of the

image formed by the mirror.

31/1/3 4



5. 0 A o LA Rl LI H TR TR T Tk dwneri % Sed o

A, fohd TR, dEeiicis g € fohu I aTel AR GHTeH! &

Yo i g s 8 7 2

How do advantages of exploiting natural resources with short term
gains in mind differ from the advantages of managing our

resources with a long-term perspective ?

6. T Sfe € 1 qTe © ¢ I8 TN ToTe weaqul i | 7 2

What is meant by wildlife ? How is it important for us ?

7. < fow A T T A 3

(1) C2H5OH+02 —>

‘ S HaS04 |
(11) C,HsOH TR

(iii) CH3;COOH +NaHCO; ——>

Complete the following chemical equations :

(i) C,HsOH+0,—>

Conc.HpSO4
443K ”

(i) C,HsOH

(iii) CH;COOH+NaHCO3; ——>

31/1/3 5 [P.T.O.



8. < e ARl o 3] Y C4Hg 3R C3Hg 2 | 378 @ Thm ANfies 1
Gehetd Afufshar quria <t S1feek daraT &1 derd) 8 7 319 I 1 gfE
FHINT | 3 IR § Hehod TR i Uik hl =amen & foag
e et off dfT |

The molecular formula of two carbon compounds are C4Hg and
CsHg. Which one of the two is most likely to show addition

reaction ? Justify your answer. Also give the chemical equation to

explain the process of addition reaction in this case.

9. ST AT AR o Hed Tqedi 3R aifast aferi o am ferfaw | foreht
Htd TP H FWR H A SIH W qedl o difedes A& § F1 giEa
B 8 7 TRl &fos ufts & et 3t & SRt 3R S W sy e &
ES § 1 Ui 2IaT 2 ¢ SUURh ST JeRLuT ok ITRi o g&l H Sl
it |

Write the names given to the vertical columns and horizontal

rows in the Modern Periodic Table. How does the metallic
character of elements vary on moving down a vertical column ?
How does the size of atomic radius vary on moving left to right in a
horizontal row ? Give reason in support of your answer in the

above two cases.

31/1/3 6



10. &5 dcd P (T G&1 20) FRet o1 @ Q (WMo @& 17) 9

Afufsra oeh s Afies s=Tar ® | i fou e g i o1 o afga S@
difsu

e ST1ad At ®§ P 3R Q it fedrfem, qem P o Q st stfufsrn

SR &1 AT 1 ] -F faRau | 3

An element P (atomic number 20) reacts with an element Q (atomic
number 17) to form a compound. Answer the following questions
giving reason :

Write the position of P and Q in the Modern Periodic Table
and the molecular formula of the compound formed when P reacts

with Q.

11. Hed o YANT I8 fohe JerR q¥1id @ o foIfyr @ieor ods &9 € aemga
BId § 7 oAme shife | 3

How did Mendel’s experiments show that different traits are

inherited independently ? Explain.

12. Toret Semewor it "erar 8 =amen shifsie for fmfafaa 3 @ g form

JeRT Sfiall o fofehTel o &1 H JHT0T Seqd ol @ - 3

(a) TESTA T

(b) TEEY (THgh) 7

(c) SiaTeH

31/1/3 7 [P.T.O.



Explain with the help of an example each, how the following

provide evidences in favour of evolution :
(a) Homologous organs
(b) Analogous organs

(c) Fossils

13. 1 BT 8, i -
(a) TATT T HIE GIFHT F3 AT | e AT ?
(b) FrEfEerm i uxh Tieft gar W iR St 2 7
(c). Tftusra BIeRL 73571997 3ht SASTOTert (TaifSrn) %e STt 8 7

What happens when :
(a) Accidently, Planaria gets cut into many pieces ?
(b) Bryophyllum leaf falls on the wet soil ?

(c) On maturation sporangia of Rhizopus bursts ?

14. <iffeh SHA 4 Gftifera foreel =R =@en 1 gt aM1se o7 36k a1 a1y
fafau |

List any four steps involved in sexual reproduction and write its

two advantages.

15. TR | B ATl GREdH ol 3 hiNe 51
(a) YO i (STUf) & STer 2 |

(b) TTET I / AU T FAN=H T B |

31/1/3 8



State the changes that take place in the uterus when :
(a) Implantation of embryo has occurred.

(b) Female gamete / egg is not fertilised.

16. Toreht gUur & 30 cm T W fedra At i Saren w1 gfdafers gdor &
T 3G g9 8 60 cm T T I U 9 ST 2 | gUor Y R g ?
FHeh! ®iehd gl TG HIWT | Al SITel H HA15 2.4 cm &7, A $Hh
yfafersr <t S=m8 31a Ffvw | sg@ Sifse fr o= sfafsms dier gm

YT 3edT | 3

The image of a candle flame placed at a distance of 30 cm from a
mirror is formed on a screen placed in front of the mirror at a
distance of 60 cm from its pole. What is the nature of the mirror ?
Find its focal length. If the height of the flame is 2.4 cm, find the
height of its image. State whether the image formed is erect or

inverted.

17. HMHd =3 %l GHSH &1 o 999 H fIRaT | AT shifST foh 19 89 =3
¥ Torelt ag 1 gl 1 uR@fdd oL 3d ©, d1 5 9 Widtend shi i afatda
w1 T8l Bl ¢ 3
Write about power of accommodation of human eye. Explain why

the image distance in the eye does not change when we change the

distance of an object from the eye ?

31/1/3 9 [P.T.O.



18.

19.

20.

IRl “gtaRyr e’ W fommerd it Tdshiefie |9 § SIS wa 3T

3T TXer fawe o siier o fore < e 2 |

(a) TRITEXOT o ST o ToTC ST 9T h1 LT i oh STHT =ATie, ?

(b) & TRl <1 Ut it gt sTST oo forvr o Stetgdeh e e
AT AU Tl # STEehdl 3cad Ul R S qFTawr & qg-A1Y
SIS T o ST H +ff T&eh gl |

You have been selected to talk on “ozone layer and its protection”

in the school assembly on ‘Environment Day.’
(a) Why should ozone layer be protected to save the environment ?

(b) List any two ways that you would stress in your talk to bring in
awareness amongst your fellow friends that would also help in

protection of ozone layer as well as the environment.

Tl o YN S Ie fohH TR T g Toh

(a) A&7 T AT AT B & 7

(b) @I &I T SR BT Uoh—qaL § sl BIAT & ¢
How do Mendel’s experiments show that

(a) traits may be dominant or recessive ?

(b) inheritance of two traits is independent of each other ?

(a) HHE T o 39 3 1 A9 TARGT ST IER1opei o i < drer-any
T BIHM 1 Fau ot AT T | $ER G Gl B9 1 A IR
1 foafen |

(b) TG HIET S T % 37 AFT b1 8 forflae sief fm=m g |

31/1/3 10



(c)

(a)

(b)

(c)

21. (a)
(b)

(©)
(a)
(b)

(c)

22. (a)

31/1/3

T ST foh AT o IR o e’ fokfira grd o1 a1 T forg
TR B & | 5

Name the organ that produces sperms as well as secretes a
hormone in human males. Name the hormone it secretes and

write its functions.
Name the parts of the human female reproductive system where
fertilisation occurs.
Explain how the developing embryo gets nourishment inside the

mother’s body.

EEREEINEIRIC I RETURSEC REICCTECA IS 1

forelt &= o6 TISH @ 9 W AUiad void Yehm=T o Aad! Juf
TereH o Y H fa3<h &1 &l SI1d &, SRS Shifsrg ?
TSUFN 1 ST ATHTIR fohL0T STRE W= GR11ST | 5

Draw a ray diagram to explain the term angle of deviation.

Why do the component colours of incident white light split into
a spectrum while passing through a glass prism, explain ?

Draw a labelled ray diagram to show the formation of a

rainbow.

TRTST foRToT STRET 31 ToFT Rd W W UET 91 foROT et g g,
et a1 & urerd o ugeg <t TR T T W B @ | U
31 TortuTi b1 =t SATST TR STadael U o Yokl H qXrE oh q9=Tq
3 ToRToTl o Uell a1 3g@ HISTT | 31 ST oRLUTl ahT 3TN, 3Tadd
TYUT o g TR BIhd o o= fedra forelt foear o wifaferar <t fearfa,

o N o AN _ o
JhIRT Teh{UT HANY Wl<leh{ FTd hid o hITSTT |

11 [P.T.O.



(b) WIS A FUUT I WA 20 cm T W Feua foreft forrat =1
T STETa Sidfers 98 9 SETa1 ¢ | Ual forre | fohat @i B ?

(a) To construct a ray diagram we use two rays which are so chosen
that it is easy to know their directions after reflection from the
mirror. List two such rays and state the path of these rays after
reflection in case of concave mirrors. Use these two rays and
draw ray diagram to locate the image of an object placed

between pole and focus of a concave mirror.

(b) A concave mirror produces three times magnified image on a
screen. If the object is placed 20 cm in front of the mirror, how

far is the screen from the object ?

23. 30 < o TR H T g (u) ok WY Slafens @ (v) B fo=r &
9T aredt = & Tt Seqor arforent st fargetr shifsie 3T uftehes Ty
forT & FRfariaa st & 3w ST

& u (cm) v (cm)
1 -90 + 18
2 - 60 + 20
3 -30 + 30
4 -20 + 60
5 —18 +90
6 -10 + 100

31/1/3 12



(a) 3T ¥ ohl BIohd T AT 7 T W o &1 H R0 ST |
(b) 38 &1 i FH g faRau St @& = 7 | 9% ey s e

TR femTet ?

(c) @i off 3fua YoM <ot T T&AT 4 o T TR foRor ST@

iU 3R 3TEEH a1 19T 9 1 ShIfSY |

Analyse the following observation table showing variation of

image distance (v) with object distance (u) in case of a convex lens

and answer the questions that follow, without doing any

calculations :
S. No. | Object distance Image distance

u (cm) v (cm)

1 -90 + 18

2 - 60 + 20

3 -30 + 30

4 -20 +60

5 - 18 + 90

6 -10 + 100

31/1/3
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(a) What is the focal length of the convex lens ? Give reason in

support of your answer.

(b) Write the serial number of that observation which is not correct.

How did you arrive at this conclusion ?

(c) Take an appropriate scale to draw ray diagram for the
observation at S. No. 4 and find the approximate value of

magnification.

24, TIEA 3R IS SEI & T o FRR & | 3 IH1 § AR fIRaw |
TTe ohl TS iR i fohan fafy faRau | 919 ek Sid o @19 3
FT A S ? AT oh T W TSSTSIel hl TN A oh HRUT I
B4 e} foreel 1 waeenai o Sg@ shifs |

Soaps and detergents are both types of salts. State the difference
between the two. Write the mechanism of the cleansing action of
soaps. Why do soaps not form lather (foam) with hard water ?
Mention any two problems that arise due to the use of detergents

instead of soaps.

31/1/3 14



HOT-d
SECTION-B

25. = feu U @ H AIAT v, Eid hivT, 3T9edd hivT qUT UTfydeh
foreenmu 0t 31Rl 1, 2, 3, 3TR 4 R OE H H fohd TR g1 TR © 7 1

(a) 2,4,1,3

(b) 2,1,4,3

(© 1,2,4,3
(d 2,1,3,4

The correct sequencing of angle of incidence, angle of emergence,
angle of refraction and lateral displacement shown in the following

diagram by digits 1,2, 3 and 4 is :

(a) 2,4,1,3 O

(b) 2,1,4,3

(c) 1,2,4,3

(d 2,1,3,4

31/1/3 15 [P.T.O.



26. = feu T g | HEl Sifehd R R :

(a) LASR Le
b) Li,ZA3R £D

() LA, Lr3R Le

(a) LAandZLe

(b) Li,ZAand LD
(c) LA, Zrand Le

(d LA, ZLrand ZD

31/1/3 16



27. I 39 39 o9 g TRl e forar, et emmepfa 9 € €, &

S N

!
a1 I W 39 forrar o wfcferar Y ammepfa gt - 1
@ (b) © — @

| 1y ..

If you focus the image of a distant object, whose shape is given

below, on a screen using a convex lens,

the shape of the image of this object on the screen would be :

(a)

31/1/3

1

(b)

© () —

17 [P.T.O.



28. @ BET A, B 3R C 7 foret gy saq 1 s1aaet guur Y TeRIaT ¥ g
T B TR | sTaae gdur i Wik gl Feifa @ & foe 3=h
freferiaa gfe wmd -

B A : YU H UG T Rl g

B B : Wad ¥ U< o <l gl

BT C : ¥ W FU0T ok ohl g

e hihd U HIH 1T/l B 8 /7 -
(a) HaA A

(b) FHIAB

(c) AIRB

(d) B3R C

Three students A, B and C focussed a distant building on a screen
with the help of a concave mirror. To determine focal length of the

concave mirror they measured the distances as given below :
Student A : From mirror to the screen

Student B : From building to the screen

Student C : From building to the mirror

Who measured the focal length correctly :
(a) Only A

(b) Only B

(c) AandB

(d) Band C

31/1/3 18



29. YR | reHieRr i stfufswan @ guria / fefifa #e & fore 9
TR & =T =t T T e | Sie der 31fere Iugeh @ ? 1

(a) Gl H1 A IR Hicqad TRIFATES
(b) WU 1 d IR Ffcdan TESIFaTES
(c) AU o1 a1 TR HIfSTH BESiaaEs
(d) BT 1 o IR Aifeaw erEgidarss

For demonstrating the preparation of soap in the laboratory which
of the following combinations of an oil and a base would be most

suitable ?

(a) Mustard oil and calcium hydroxide
(b) Castor oil and calcium hydroxide
(c) Turpentine oil and sodium hydroxide

(d) Mustard oil and sodium hydroxide

30. 9% U IR WEAET, A, B, C 3 D 4 HH31: Hifedq haHe,
HITSTH FARES, I 1 ] AR el fofcad 1 foee" R 21 36 4
f3ra | Fr T % et s SuEn VEfeE [/ udeTe ot % ul
Tliequr & foTT AT IUIR &R 7 1
(a) Had A
(b) A3RB

(c) B3 C
(d) A D

31/1/3 19 [P.T.O.



31.

You have four test tubes, A, B, C and D containing sodium
carbonate, sodium chloride, lime water and blue litmus solutions
respectively. Out of these the material of which test tube / test tubes

would be suitable for the correct test of acetic / ethanoic acid ?

(a) only A

(b) AandB
(c) BandC
(d) Aand D

fordt B 7 =R wEAfEt P, Q, R 3R S <ff 31 I&eh # <7 8 mL

A ST WA | qeavaTd 38+ T@elt PH NaySOy4, QH K,SO4, RH

CaSOy, S & MgSO, ! THM HEHTY el | Tieh TE-ell § |Ed o
T h ga A TRt 3R 38 Aelt-Teer faeifed o w38 e
@A H YA W § S AT 8, 98 WEH T |

(a) P3MW Q
(b) PR R
(c) P,Q3R S
(d) Q,R3M S

31/1/3 20



A student took four test tubes P, Q, R and S and filled about 8 mL
of distilled water in each. After that he dissolved an equal amount
of Na,SO4 in P, K,SO4 in Q, CaSO4 in R and MgSOy in S. On
adding an equal amount of soap solution and shaking each test tube
well, a good amount of lather will be obtained in the test tubes :

(@) Pand Q

(b) PandR

(c) P,QandS

(d) Q,RandS

32. fi=fcAfiad # & g9sTd 7 % GH=> i g :

(a) e 3R foreht o 7@
(b) =HEE TR FHe & TE@

(c) T, sk AR fSUHed! o SIS

(d) faaeht 3t =wmes & 9@

Select the set of homologous organs from the following :
(a) Wings of pigeon and a butterfly

(b) Wings of bat and a pigeon

(c) Forelimbs of cow, a duck and a lizard

(d) Wings of butterfly and a bat

31/1/3 21

[P.T.O.



33. = o SIS % YUT 1 J&01 A 90 Tl B 9 = feT 18 g o6

SSTTeRuT, SSUEER, SiSTus, 7=, T, JATFH |
T4 Y il SR ek Heied | I8 fEult &, foh 390 € shad diF 9T
HEREENEREEEIEPEE S

(a) dirad, sfsTrereT, wet

(b) ST, T, HATF

(c) dSITH, 31d-shad, ATH

(d) disios, SiSUeSER, JTa

A student while observing an embryo of a gram seed listed various

parts of the embryo as listed below :

Testa, Micropyle, Cotyledon, Tegmen, Plumule, Radicle.
On examining the list the teacher commented that only three parts
are correct. Select these three correct parts :

(a) Cotyledon, Testa, Plumule

(b) Cotyledon, Plumule, Radicle

(c) Cotyledon, Tegmen, Radicle

(d) Cotyledon, Micropyle, Plumule

31/1/3 22



34. 3T IR S % YRR o1 AW faifge Sad we S Sifsem @ <
Hald hIfRreRsTl a1 Al Ba1 § 3T Sieh hifRTehT o1 Afedca AT &

ST 2 | 39 9UH =0T 1 3@ hifSTT @ 39 Teh o ST shl 3T

BT ® | 39 ST % U8 a1 =0T o 3T dif | 2

Name the type of asexual reproduction in which two individuals
are formed from a single parent and the parental identity is lost.
Write the first step from where such a type of reproduction begins.

Draw first two stages of this reproduction.

35. @Ik BF 10 cm HIehd gl 1 30 <iF <iohl HIFe! shl SATal ol o F 9
TN 60 cm G T T@AT § TR SATAT o FfIforal Tl 9q T BIhad

AT B | 38 UYETq 98 Satal i R+ A it 3T Txeprar S ®
I g IR gfdferes sl 9e 9T BIshfEd o shdT © | 2

(a) ATt o Sfdferrs sl WIehfdd i o fIT I8 Uq hi fohE TR BRI
B~ I Y AR U H T F 7

(b) widfersr o drgst A 1 UiEdA gran g ?

(c) ATl Tl o o fehe @M R fdfors i digar & o qitedq g
g7

(d) <9 & T fohaft g R SATET Bl T T 3T TUH HISS T el
yfcfers MTaT B ?

31/1/3 23 [P.T.O.



A student places a candle flame at a distance of about 60 cm from a
convex lens of focal length 10 cm and focuses the image of the
flame on a screen. After that he gradually moves the flame towards

the lens and each time focuses the image on the screen.

(a) In which direction-toward or away from the lens, does he move

the screen to focus the image ?
(b) How does the size of the image change ?

(c) How does the intensity of the image change as the flame moves

towards the lens ?

(d) Approximately for what distance between the flame and the
lens, the image formed on the screen is inverted and of the same

size ?

36. <& A fopddt Tt H ifsam qEge HaHe HT UISel e 398
UHIfEsh 3T STed &, Al L o disl JagaTae o |12l ohig 119 et & |
36 19 1 T ey 3R 36 wlieqn 1 i AifS St 56 719 o6 ge=
%1 g ear 2 |

A gas 1s liberated immediately with a brisk effervescence, when
you add acetic acid to sodium hydrogen carbonate powder in a test
tube. Name the gas and describe the test that confirms the identity
of the gas.

31/1/3 24



MARKING SCHEME Code No. 31/1/3

CLASS X — DELHI

Expected Answer/ Value point Tota
Marks I
SECTION -A
Q1. | CH3OH, C;HsOH Yo, % 1
Q2. | Multiple fission; Asexual Yo, %2 1
Q3. | Because a lake is a self-sustaining system. 1 1
Q4. | Virtual, erect, diminished, laterally inverted 4 X% 2
Q5. | Former leads to huge immediate profits / selfish gains while latter leads to 1
sustainable approach so that the resource may last for future generations too. 1 2
Q6. | Wildlife — All naturally occurring plants, animals and their species which are
not cultivated / domesticated / trained 1
Importance —
i. Help in maintaining ecological balance
ii. Provide great aesthetic value for human beings
iii. They have economical importance also
(any two) | ¥2x 2 2
Q7 i. C,HsOH + 30, —» 2C0O; + 3H,0 1
Conc. H,SO,
il. C,HsOH —_) CoH4 + HO
443K 1
iii. CH3; COOH + NaHCO3; —» CH3; COONa + H,O +C0O, 1 3
Q8 L] C4H8
e |t isan unsaturated compound / due to the presence of a double bond.
o CyqHs+Hy —MLP9 5 CuHyp (or any other example) 3
Q9. | Vertical Columns — Groups Yo
Horizontal Rows — Period Yo
Metallic character increases Yo
Reason: Ability to lose electrons increases on moving down the group due to
increase in distance between the nucleus and the valence electrons /decrease in
the attraction between the nucleus and the valence electrons. Ya
Atomic radius decreases Yo
Reason: the nuclear charge increases on moving from left to right across a
period resulting in increase in the attraction between the nucleus and the
valence electrons. Yo 3
Delhi—31/1/3 Page 2




Q10.

Position of P Group -2 Because it has 2 valence electrons/ 2, 8, 8, 2

Yo

Period — 4 Because it has 4 shells/ 2, 8, 8, 2

Yo

Positionof Q  Group — 17 Because it has 7 valence electrons/ 2, 8, 7

Yo

Period — 3 Because it has 3 shells/ 2, 8, 7

Yo

Formula PQ: Because valency of P is 2 and that of Q is 1

Yo, %

Q11.

Mendel conducted a dihybrid cross; and observed that though he started with
two types of parents, he obtained four types of individuals in F2; The
appearance of new recombination in F> generations along with parental type
characters show that traits are inherited independently of each other.

1+1+1

Q12.

a) Homologous Organs — The study of these organs suggests that these
organisms with organs having same structure but performing different
functions have evolved from a common ancestor, e.g. forelimbs of different
vertebrates.

Yo
Yo

b) Analogous Organs — The study of these apparently similar organs suggests
that the organisms with apparently similar organs do not share common
ancestory. Similarity in these organs is superficial/ Design and the structure
of these organs are very different, e.g. Wings of bird and wings of butterfly.

Yotlo

c) Fossils — Provide the missing link between the species, e.g. Fossils of
dinosaurs with feathers/ fossils of prehistoric horse/ or any other correct
example.

Y
Y2

Q13.

a) Each piece regenerates into new Planaria

b) Bud, at its notches develop into new plants.

c) Itreleases spores which germinate into new mycelium in moist conditions.

Q14.

Steps of Sexual Reproduction:

e Formation of male and female gametes

e Transfer of male gamete to female gamete

e Fusion of gametes resulting in zygote formation

e Zygote grows into an embryo forming a new individual

Yoax4

Advantages:
e Increases genetic variation

e Plays an important role in the origin of new species

Yo X2

Q15

a) When implantation of embryo has occurred the uterine wall thickens and is
richly supplied with blood to nourish the growing embryo.

1%

b) The thick and spongy lining of the uterus slowly breaks and comes out
through the vagina as blood and mucus.

1%
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Q16.

I
-~

2.4cm u=-30cm v=-—60cm f

Yo

Yo

Yo

“h,=—h x— =—24cmx
u

v —60cm
-30cm

=—4.8cm

Yo

(—ve sign of h, (image size) indicates that the image is inverted)

Q17.

Ability of the eye lens to focus nearby as well as distant objects on the retina by
changing the curvature / focal length of the eye lens.

Image distance in the eye is the distance between the eye lens and the retina and it
is fixed.

As the object approaches from infinity towards the eye, the focal length of the eye
lens decreases (or vice a versa) so as to maintain the same image distance.

Q18.

Because Ozone layer protects/ shields earth from harmful UV radiations of
the sun

b)

e Conducting poster making competition highlighting effects of ozone layer
depletion.

e Conducting street plays highlighting the ways of environment protection.

(or any other)

Q19.

Mendel conducted a Monohybrid cross/ (crossed pure tall pea plants with
pure dwarf pea plants), observed only tall pea plants in the F1 generation, but
on selfing the F1 progeny both tall and dwarf pea plants were observed in F
generation in the ratio 3:1. Appearance of tall character in F; and F
generations shows tallness to be a dominant character. But absence of dwarf
character in F1 and its reappearance in F> confirms that dwarfness is a
recessive character.

2%

b)

Mendel conducted a dihybrid cross and observed that though he started with
two types of parents, he obtained four types of individuals in F.. The
appearance of new recombination in F2 generations along with parental type
characters show that traits are inherited independently of each other.

Yo

Q20.

a)

e Testes

Yo

e Testosterone

Yo

e Functions of Testosterone — I) Formation of sperms

I1) Development of secondary sexual
characters

Ya X2

b)

Fallopian Tubes/ Oviduct

Yo

c)

Placenta, a special disc-like tissue embedded in the mother’s uterine wall
and connected to the foetus/ embryo

Y, 1
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Placenta provides a large surface area for glucose and oxygen/ nutrient to
pass from the mother’s blood to the developing embryo/ foetus.

Q21.

Diagram
Direction of rays
Marking £ D

Y2
Y2

Different colour of white light bend through different angles with respect to
the incident light, as they pass through the glass prism. Thus, each colour
emerges along a different path, forming a spectrum.

Raindrop
Sunlight

Diagram

Labellina

Q22.

e Listing of any two (out of four) rays and stating their path after
reflection from a concave mirror.

1,1

e Ray diagram

Using these two rays for the ray diagram when the object is in between the
pole and the focus of the mirror.

b)

u=-20cm m=-3

\'
m=—
—u

Yo

. V=—m xu

Yo

=—(—3)(-20cm) =-60cm

Yo

Distance between the object and the screen is 40 cm

=-60cm—(-=20cm) =-40cm

Yo
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Q23.|a) f =+15cm Ya
Reason: Objects at S. No. (3) indicates  u=-30cm, v=+30cm
Thus, object is at 2F (2f =30cm)
. f=15cm 1
b) Observation at S. No. (6) Yo
The value,u =-10 cm, indicates that the object is in between the optical
centre and the focus (i.e., less than the focal length) of the lens and hence
the image should be on the same side as the object. Thus the image
distance cannot be positive. 1
¢) u=-20cm;v=+60cm; f =+15cm
A .
/W
de\l l
& . ‘ B
SR e
e COthn — >
\ =
A 1%
m:h_2:—4.50m -3
e Ese]p] "
Q24. | e Soaps are the sodium or potassium salts of long chain carboxylic acids while
detergents are the ammonium or sulphonate salts of long chain carboxylic
acids. 1
e The dirt is oily in nature and when soap is added to water, its molecules form
structures called micelles in which carbon chain of the molecules dissolves in
the oil while the ionic end dissolves in water and faces outside. The micelles
thus help in dissolving the dirt in water. (Note: 1 mark to be awarded if only
labelled diagram of micelle is given) 2
e Ca?" and Mg?* present in hard water form insoluble substance (scum) with
soap. 1
e Two problems —
0] Non-biodegradable
(i)  Water pollution / soil pollution 1
(Note: 1 mark to be awarded for any one of the problems.)
SECTION-B
25) b 26) a 27) ¢
28) a 29) d 30)d
31)a 32)¢c 33)b 1X9
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Q34. | Binary Fission 1

Elongation of cell and its nucleus Yo

Correct diagram showing progressive elongation of the nucleus and cytoplasm. 1
Q35. | « Away from the lens

o Size increases

¢ Intensity decreases

e About 20 cm 4 XY
Q36. | Carbon-dioxide/ CO> 1

Lime water turns milky on passing CO» through it. 1
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e Hed T SR / oA fag & | A
W - oF
1. | CH,OH;C,HOH v Y| 1
2. dgEed ; oTifieh Vo, sl 1
3. Fifer el T i e ) 1 1
4. SO, W, R | Bier, 9vd giafad 4xY5 | 2
5. FH Ay o I_¥d o fau fRU SM aret 99l o A |
AT AR Bl & / et Bl € Seifeh {efshiferr g
% fou ffy M ot FEeE & S/ Sied Gueeig. S
Y fopy i € difer HEEET 1 @ At difew s o e ©1 | 2 2
6. g S : Yohfd § 9T SH arel 9t 9Iky, §iq ud 39! fafta=
yenfaa (Eeis) 9= s / wen / wfeifera T feen smm 1
wed (1) iffeafds Fge 9T W@ H 9RE
(ii) wFal & forg ercafs dicd GaATe qed YH
(iil) e "o (iE =) YBX2| 2
7 | i) CHOH+30,-2C0,+3H,0 1
i) C.H.OH + CH.COOH — 150 1 v 10
443K 1
iii) CH,COOH + NaHCO, —> CH,COONa + H,0 + CO, | 3
8. - CH, / X 1
© TE g AfTEw B/ T T fgeme 2 1
« C,H, +H, Ni/Pd CH, 1 3
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v dE& Eifad 3R / Jedied fog ED T
9. o SR WH - W% 1

o Aifes dferEl - et Vs

o wifeger oo | g B T Vs

FR : fRE TR ¥ W Y A9 SH W AR 3R gt

ARl o o I T 9g Wt © / AR SR GaASTRdr gl

o o SHYU WS S €, 3T: el oh TR @R ®i ygfe

93 S 2 Y

W] e T St ) Vs

FHRO : fhdt oTad § 9§ IE IR WM W NS ok See |

U BH & HRU 98 AR SARHl Sl SAfHE 9 9§ sTeRfd

3l B Ya 3
10. | P @1 soiee fo=ma - 2, 8, 8, 2 7

Q =1 seiReH fa=m@ - 2, 8, 7 72

P =t ferfq - 99z 2, 3mad 4 )

Q =i frarfd - ¥9g 7, o7Ed 3 b

PQ,; [Famsad P-2 ; Q-1] Yo, Vo | 3
11. | ¥ea ¥ s fowedt S & WM W I fawedt Sl & @y g4m

fan @t o® 9 T F, wafa o Sl oF @eIoi 1 hadl T

T € U Bl €, St F, "afd # SHehi o <A oteror aig 1

A © qem |iel € AN oh U HaeH off fHeld ® S UE <9I © 1

foh @IeT0] T ®9 ¥ ST B 1 3
12. | « 9oSTE T ; GHSNd T o 1eTFd W g8 geAl Wiw el ¢ b

TE T et SMURYd S ThE ¢ g 9 i e e €,

ST o e (Swatiss) gds @ gan 2 Vs

faf= I3 : FIThi (Hesh, fouswhal, Taft, M) &I STER Ya

3
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T3 &

JEITferd Ik / Hedioh fog

iED

RIui

13.

14.

15.

o UUEY /Tmgfa 3 : @A ¥ 99 T S o e 9 Ug A
g 2 o Sl o u o fREE 9 9 o g (3atTs)
et T BT TR g9id, Ry fafas 9 g9 % R 3 s
g T9id & for & o 1 STghoM U 99 &A% forg gan B
ST : et o g@, faael o 9@, 9IRS % 9@

o SHered : Stared & G % o= ®i faew wEl 9EH W 2l

I : AfhaAicRd / W Hfed F© SHAMR o Siarsy /
RIfRTToeh SIS o1 Siered (31e@n &7 &iE)

* TEF ZHel fawfad gt g (Fu)wrfen w1 feio w2

o ufcll 1 R AT wicehd ga1 § AR Q99 o foemfaa &

St 2

o SISO STST0] Heo Yt ®, S ST TN W SFpRa e
TESTE & T Sg 39 FW o

HiTeR 9 oF IO :

o T SR HE1 ekl 1 fEfo

o TR FHE 1 HEK JHH qoh TR

o K| HT GaAd Bk THAS skl FaAf00

. I GR[Y Hleh YU H GRAfId Bl 95 AT ol
oy

o SHf fafy=Tarst & gy

o T TS o I3wa H HAoaqul et

a) YUl o AR § Tfud 8 oF 9verd 9! ofiare ud (fafa)

A et Sl € e gu % 99T Bq ER w1 g ot °9%

ST 81 YT 1 | o BUR W 90 W i oh fory T e

G (wiger) i & fafa o fawfad 8 S 21

b) Tofer *T ArEe R Tl stq:fuf w1 o e ek Al

Tt ¥ TR IR EE & w9 H fewifad g 2l

2
72

e

V2

4 XY

2X Y%
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e we Eifad 3R / Jedied fog 3k AT
16. hy=+24cm; u=-30cm; v=—-60cm; f=2?
111 Y
f v u
IS B 1
— 60cm - 30cm /2
S f=—20cm 1
m=te 2 2
h, u
b= x Y o 24emx =20 4gem A 3
u —30cm
17. o A 7 F ¥ AN ST HIhE T / okl § URed hich
I 9 A foal wd 95 o ke &f axgstt (faai) @1 e
(ZMEUed) W HIHFd HT hH &HA / FFA 1
o vfafea g - T oW ¥ e (fereq) & = # b iR Tw
b ffyea Bt 2 1
o | SW-SY 99 od W A H1 AN A S B, T B dehal a@d
(BTG T Tedt) S ek R0 3 of| g e & S
T (vfafsa gft) wea 9um o @l 2l 1 3
18. | a) ifw A9 Wa T ¥ 9 a1t e WeTH fafwon 9
AR TN w2 1
b) * urex fmiv gfaaifitar smifsa s FE ofee wa & afaa
B o Y@l W YRR STl T B 1
o qFHE ACHI HT ASH FH qAfaReita GRan & U W
YeRTel STall TR B 1 3
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iED

RIui

19.

20.

a) Hed A T fadedt Sig- Wi Y& ofd TR & qeli 1
JRY dF AKX o Wl o WY GehIUl H{H % ITEE I Ul
fopan fop F, @& & ohoet @i HeX o di9 € Ww gl W

F, didl o diefl o1 S e R g F, 7 § Ss9 ofe

A I A IHR F TR F q U gy o 3R 31U

3:1 em F, @en F, <0 & difgdl & o9 @i &1 9he 341 9%

Tl ® fop el w1 e e gt wer 21 F, did § |9
Yl T | T S g8 g9l § T amae et @eor 2

b) Hed 7 9a T fodkedt g & WH W I fawedt Sl ame
il 1 WA R @ U i R A8 uEn R asar se
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S T TANN hT Yehe BT T IWGH © TR A0 AT €Y
Y S B B

o JWAA o ®E - (1) IR STRA T A0
(i) fedoes <ifier @l w1 fosm
b) enfue aferer / steanfgen

c) * @b UH a9 YRR HT qYRITH 9= S © S et
1 fufe & ot et 21

o @b A ok IR Y YU I T, SR T
Teh! hl TIMARA i o (o g8 & SH Hidl 2

2%

2

72
&
2
2
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72, 1
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e Hed T I / HoaishA foig & | A
23. | a) « =R TN ¥ ° T < fron ) g iRy TR &
3TEAe UV ¥ WA oh 9¥Ed oh 9 i I @ Seoidl 1+1
o TR0 3@ : 3@ @ H FW ol T o &1 GerIar °
TY0 & d IR A Hihd & ot" faq %1 fefd & foag
foRY0T 3@ = 1
b) u=-20cm; m=-3cm; m=-3
SLv=E-mXu 1
=-(-3) (-20 cm) = -60 cm Va
oo 9 R ¥ faa &t g =-60 cm -(20 cm) = -40 cm Ya 5
a) f=+15cm )
HRU ;e Fe 3 H f9d gt w=-30 cm ;
gfafaa 34 v =+30 cm
o7d: fofa 2 f R feora @ e1erfd 2 £=30 cm 1
b) H G 6 1 YU & T 2 iz
FRO : u =-10 cm A H%a € fr f6a FeRifyes ohg @i
& Hihd o o € (3FUfd u < f), 31a: gfafae & AR
T T R fog @ i wfdfss g8 (v) oA T2 & "adhl | 1
¢) T em@ a8 u=-20cm; f=+15cm; v=+60 cm
7
-e“!
P )
B 1S—>
< 200w L
-‘E\l—.
1%
A/
mih_2774‘50m .
~h +15cm 7 Vs 5
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e Hed T SR / oA fag & | A
24, o WEA - Tell JWA o HEIAh Tl oh HIfeTad Tefa
TR wE0 B §, Stk AuAss (feswee) e g@ern
o ShTeif(er STl o STHIfEH S1eEl ehiHe @au B 1
o Y () HI delid YRl Bt & 3R W& WA Hl 5o o e
ST ® G o 370] sy wEE o € TR fage wed @)
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ST § Sl BT 8 i T SR w1 SR el 1 39 YR fade
el i Wl § Sier o WerEEr St 2 2
(2 : Ff% Saer firder 1 THI%d ARG 41 & d 197 &1 wra))
* HSR W H sufterd Ca’ @R Mg” TeF e & W
e Isred (TRH) A 1
o T HHEAM :
(i) e Pl
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0 - o
25. b 1 1
26. a 1 1
27. Cc 1 1
28. a 1 1
29. d 1 1
30. d 1 1
31. a 1 1
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